1.1
1.2
1.3
1.4

2.1
2.2
2.3
2.4

3.1
3.2
3.3
3.4

4.1

4.2

4.3

5.1

5.2

5.3
5.4



6.1
6.2

7.1
7.2
7.3

8.1
8.2
8.3

9.1
9.2
9.3

10
10.1
10.2
10.3

11
11.1
11.2
11.3
11.4

12
12.1
12.2
12.3

90°

60°

10

45°

30°

13
13.1
13.2
13.3

14
14.1
14.2
14.3
14.4

1.2

1.3

2.1
2.2
2.3
2.4

3.1
3.2

4.1
4.2
4.3

b=0

o|o

180°

Yi=@n-4)rt. Ls X e=360°
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5.1
5.2
5.3
5.4

6.1 0° 90°

6.2
6.3

7.2

8.1
8.2

9.1
9.2

10
10.1
10.2
10.3

11
11.1
11.2
11.3
11.4

tan(90° - 0) = 1
tan©@

30° 45°

sin(90° —0) = coso
sin®
cosH

60°

12

cos(90°—0) =sin®

§n%0+cos?0=1

12
12.1
12.2

13
13.1
13.2
13.3

14
14.1
14.2
14.3

1.1
1.2

2.1
2.2

3.1
3.2

4.1
4.2
4.3
4.4

(xty)?

10
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5.2

5.3

6.1
6.2
6.3
6.4

7.1
7.2

8.1
8.2
8.3

9.1
9.2

10
10.1
10.2
10.3

( )
=t _Sht1ys
r+s r+s

ax+by+c=0 y=mx+c

l+l:1

—y; = m(X— X
= Y=y =m(x—x)

y Y2V X
Y-% —X2_X1( %)
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11
11.1
11.2

12
121
12.2
12.3

1.1
1.2
1.3
1.4
1.5

2.1
2.2
2.3
2.4
2.5

3.1
3.2
3.3

4.1
4.2
4.3
4.4
4.5

f(x)

(H C.F.)

y=1(

15

(L.C.M.)



5.1
5.2
5.3
5.4

6.1
6.2
6.3 0 2n 0° 360°

6.4 ( 0 2n 0°

7.1
7.2
7.3 X
7.4

8.1
8.2
8.3

8.4 ( )
8.5

9.1
9.2
9.3
9.4
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360°

10
10.1
10.2

11
111
11.2
11.3
11.4
11.5
11.6

12
12.1
12.2
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